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1 1.

symbol of the flow chart is used to either .

start or end the flow chart.

decision il (D) process U5y (C)

ég’rcvl.ul.}ﬁfc/ut " Uf.‘ul{ﬁ ~1.1
K & e Je

connector - A ) terminal  J22 (A)

To check logical errors in algorithm, we use _____ o b e & LS G fusb S (3)‘:9'5 -2
Flowtable 46 (D) Simpletable il (C) Tracetable 527 B) Truth table NI

Peta byte is equalto_____ Bytes. ‘ e e L ey & -3
1024y (D) o« 024)° (C) (1029)° (B) 1029)* (A)

In hexadecimal number system "'12" is equal to - | e bl 1 o (V AL g
| A D D (C) C (B) B @

The reciever must be capable of accepting the _____ ~&lbta ,,}!G"L LAUE el -5
message (G (B) protocol iy (A)
information =4s* (D) address (7.4 (C)

Routing is process of taking data from one device and Wa LTt e S ] b -6

:sending it to another device in different - s B:” (LT e S

area L (D) path 4, (C) ° network L (B) channel J¥ (a)

"Caesar" who created caesar cipher was basically | - L A OR G Ml S o1
‘" | shopkeeper | A£¥ (B) doctor . 213 (A)
~ politician and military general J 28 sfulL (D) businessman & % (©)

of the following does not include in the LeBdEa Ao oo Jigsn -8
types of software piracy. - {_ uj Je
‘ liability il (B) softlitng - Bl (A)
online piracy &}QJUUT ©®) client server overuse iy minpdilf (C)

A hyperlink can be applied to : | -BED; AT BA L -9
' ‘ text g (B) image 2 (A

none of these &/ ctw! (D)
ingular tag.

<br> (C)

“both () and (B) Uk B4l (C)
- J)}c'___c..u:ul «10 -
<p> (B) <htmi> ‘(A)

/ * Rt
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- Note: Section I is compalsory. Attempt any TWO (2) (2) ve. Jf Y 4 (2 o -q—t!Jl! Jils .
questions from Section II. a4z Lum’.

. Section - I d_‘.'l

2 - Writé short answers ‘to any FOUR (4) questions.
i- Write down the names of 5Ws.
ii- Define the strategy “Dtv_ldo and Conquer".
iii~ Define Flow chart. |
iv- Whatis meant by dec:s:on making?-
v HTML stands for which? .

vi- Whatis difference between paired tags and singular tags

8 - Write short answers to any FOUR (4) questions.
i- Give four examples of storage devices.
ii- Write down the truth table of "AND" operator.
iii- Write down the method to convert decimal humber
into binary number.
iv - Convert (156),, into binary.
v-v Deﬁ’né sabotage'. '
vi- Whatis hacking? ‘
4 - Write short answers to any FOUR (4) questions.
| i- Which protocol do we use for e-mail?
ii- Define daté communication?
ili- How does web server work?
iv- | Define client.
v- Define body sechon
vi- Wiite the outpu! of ihe following HTML code
<u|> s

<Ii>item<lli> ‘

-<li>item</ii>

‘at is i eant by p!anntng a solution and wnte down

2
§

Bescribe the aspects according to whl,ch we want to

A\ hat is meant by star topology and how does lt work? 4+4 (8)

- (2x4=8) -égiuuzﬂéuw s if-2
: -éf{/’rc L 5Ws -i
e s .J “UIPe b S -
Ll b -
e sy e il -iv
fe SV UTHTML -y
e GBI B i

(2 x4=8) 2 fez Lot (4)spe S -8
2y hu"b‘ug STl it -i

ek AT CAND” i

KPS S JE e St i
- e

L drndeS 56y, -iv
EPEKF -
?g;. U’..ﬂf‘

: (2x4 8) -gf:/i...wﬁé..uw (4)4 y:_J/ -

fur ZS Uy WA i A -
-é u’/’ § U"Prr €3 -id
te tS] rb’c;f B et -
Sl
EwfEEey v
e foea ST ML S -
<ul> - -
<li>item</li>
<li>iteme</li>

# <lul>

Sectlon II (.u..»

2x4(8) UWab f m}fm;_ﬂ/y’;dp #§S =B
-y
sg;.dfrk’d’,mq_;/yfa,dj{j,b "6

246(8) u"ft;sc_:(du,;u’,{myuwu, i
-urg.yuc

40: ;f l.
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1o 1 Number "17,,"is equalto _____in binary system, - el p (" U 17,4 1.1
: 10100 (D) _ 10001 (©) 10110 " (B) 10000 (A)
2- symbol i in flowchart is useq either | dz rG‘:l I S - L g
to start or to end the flowchart. - ¢ de Ui
declsxon Yilkld (D) _ Process %, (C) connector - 4 (B) terminal 22 (A)

8- AnHTML element | usually consists of —_tags, Y & 4L AHIMLL .3
Start (a)
both (4) and (B) U (B) s (A) (C)

-ﬁ'_t‘/g}‘(o n..«U:fu/f’/(,(Jy -4

. end (B)
.none of these /e i (D)
4. accesses the serwces made available by a servef’

client wsi’ (D) server s /C) path =, (B) area L1 (A)
65- Ina____ error, the solution is working but | - d” Jgﬁﬁlc—ea JJJ‘J(:.___ -5
not giving requierd results, P u” P AR s
| . o logical error z{ld?u (B) o fandom error J;lr.a;; (A)
) _ ’ruhtlme emdr z{l( bets- (D) . " B, syntax error /{luﬁ’ (C)\
. 6- of the following is not a charagferistic of P J 3.::u‘L & o Fditn -g
good password, ’ < S

" r..(}""/f‘-‘:uz (B) is eight characters long b3 2T (A
/rtéu u/w;ﬂ. (D) contains uppercase letters ;.l}"{...wz.? (€)

- doesn't contain usemame .

password is your name only L

7- The element is a co iner for metadata, : N - STy &l -7
<html> (D) <title> (C) .- <head> (B) <body> (A)
8- “ltis cold outside" is___ . | o i L B nl” -8
3:“; : ‘ categcrlcél proposition cf'tu‘{d{(fg B8) , boolean proposmon u’:{d{u"i (A)
S v none of these 'lﬂ’éfc.u?cﬂ (D) _ moral p_ropositlon ,(ﬂlgwdm (C).
9, of the following is not a cybercrime. | " it us’,/’u’ Av e tbts -9
| Phishing crime // % (g) ' « Hacking e (a)
‘ - Decryption . 443 (D) o ldentxty theft - ;,wJ._éu (C)

10 - 'l'he recexvermust be capable of accepting the ____ -g,um}n: L/d,? u/dnru; -10
- information < (D)  address (At (C). message (. (B) - }protoool g @)




- COMPUTER SCIENCE (New Course) (('un’ ” o d:‘du:ﬁ) l"‘A 128 - % () v,

Time: 1:45 Hours Paper:1 : SUBJECI‘]VE N IV',";{ & 145.
Marks: 40 - Group-II G U]~1~l3 Ry ur)/r ! . 40; U":tl
Note: Section I s compulsory, Attempt any TWO (2) (2) vedf e e Ui :u.-]

questions from Section 11

-é.:.yzﬁ..,mr
Section -1 Jilo

2~ = Write short answers to any FOUR (4) questlons; ' (2 x4=8). -5;} -syli/*ﬁulﬂr (s Jf

_i- Define tracetable. &, A -édf"t{&)‘&ﬁ/ ~d ‘
i- Write two disadvantages of flow chart. ' -£ F ety oL s Ll PO : o

1i-  Explain candid solution, & ol A W
iv- Whatis the act it out? e brfuifauly Ly
V- Describe the Web Page, - 2ol (O -v

- vi- Whatis meant by hyper tgxt. Sl e Ll i

8 - Write short answers to any FOUR,(4) questions. (2 x4=8) -q‘f;f auzﬁz:.:.uur (4) Jk e Jf -8

1- Whatis meant by Number System? ?é,u, Ve (8w -i

i- Convert (69610),, into Hexadecnmal " Uk Sk (69610),, -ii
iii- Define the Memory. ‘ .- S - m

iv-  How many bits are there in a byte? ; gt s S LA iy
v-  Explain the cyphertext, ' L HoelfelA Ly
vi- Why is security necessary for data? Deséribe it. B -85 Unpudl L Lesdnf v e

4 Wrxte short answers to any FOUR (4) questlons. (2 x4= 8) -é{}’ uuzﬁ?ﬁ.ulﬂr (1ipe Jf 4

i- Define file sharing in your own words. -2E 2 s LS i
ii- Whatls hypertext transfer protocol? , , , o fe VU A ».-—?,c!.. -ii
iii- What s the use of communication system? e YUy ~ u’:g:r -iii
iv-  Explain the concept of network topology. . - ooy f i L S lney -iv
v - Differentiate between hypertext and markup language Z el é:@Yf S O ) -Y'., . g
vi- Why border attnbute is added to image? . et WUl epmgri 2 o i

Section - II f”""'"

B - Explain the fofmulaiipn of an Algorithm. g (8) 8 ol (SIS ‘Z,U} ' B

@ - Explain ény four éomponents of Communication Systerﬁ. ® ool 21 < el | 6 l

7.~ Describe the importance of encryption in everyday life . (8)  _zly et f S g e Cesapns 7 . (
on the Internet.
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